
DESCRIPTIONID PART QTY REF.

Ref.: 9710

20 min1 person

Innnteeermmmediate

DDDiffifificcuuullt

KAWASAKI VERSYS X300 ‘17-KAWASAKI VERSYS X300 ‘17-

Nº 3
Nº 5 Nº 11

ALLEN

Pg. 1/2

Screen

M5 ISO 7380 Allen screw cap

M5x16 Ø11 ISO 7380 Allen screw

Ø12xØ6,8x7,3 bush with fl ange

Ø12xØ6x9 silentblock

M6x14 special screw, cylindrical Bush lenght 13 (inner M5x9)

1

4

4

4

4

4

9710F/W/HM3

TAPON--------85

TORNI-I7380-493

CASQUI-1A---750

 AROPASACABLES-1

TORNI-EM6---772

1

6

5

4

3

2

- TOURING SCREEN FOR - 

 Easy

https://www.motorcycleid.com/puig/


- TOURING SCREEN FOR -       

KAWASAKI VERSYS X300 ‘17-KAWASAKI VERSYS X300 ‘17-

3

21DISASSEMBLY

ASSEMBLY

ASSEMBLY

Pg. 2/2

1

2
2

2
2

56 4 3

1

3

45

 - MOUNTING INSTRUCTIONS -

 - TOURING SCREEN FOR - 

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

